Name: ___________________________________________
Date: _____________________________

Absolute Values Worksheet


1.
Use the graph of y  f (x) to sketch the graph of y  | f (x)|.
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2.
Express each function as a piecewise function.

a)
y  | 5x  1 |

b)
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c)
y  | 2(x  2)2  8 |

d)
y  | 2(x  3)(x  1) |


3.
Solve each absolute value equation. 
Verify the solution.

a)
| x  1 |  2
b)
| x  3 |  1  0

c)
| 2x |  5
d) 
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4.
Solve each absolute value equation algebraically.

a)
| x  5 |  3x  4

b)
| 3m  2 |  m
c)
| x  5 |  x  5

d)
| 2n  |  3n  8


5.
Solve each equation.

a)
| x2  2x |  1

b)
| x2  3x |  4

c)
8  | 0.5x2  3x |

d)
3  | 4x2  8x |

6.
Given the equation | x2  4 |  k, determine the value of k for each situation.

a)
There is one solution only.

b)
There are two solutions.

c)
There are three solutions.

d)
There are four solutions.

7. Solve each inequality. Check your solution(s) graphically.
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ANSWERS
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2. a) 
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  b) 
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  c) 
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3. a) x  3 or x  1   b) no solution   c) x  
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   d) x  0
4. a) x  
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   b) no solution   c) x  5   d) n  8

5. a) x  1 ± 
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 and x  1  b) x  4 and x  1  c) x  2 and x  8  d) x  1 ± 
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6. a) not possible   b) k  0, k  4  c) k  4  d) 0  k  4
7. a) 
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